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Name: ___________________________ 

Date of Birth: _____/_____/__________ 

Indian Boys:  
Weight, Birth – 12 months 

Age (months) 
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Multiply kilograms by 2.2 to get pounds: 
8 kg  x 2.2 = 17.6 lb 
 
Divide pounds by 2.2 to get kg:  
20.5  lb ÷ 2.2 = 9.3 kg 

 

         Date                       Weight                 Initials 
 
____/____/_______    ________kg         _______ 

____/____/_______    ________kg         _______ 
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____/____/_______    ________kg         _______ 

____/____/_______    ________kg         _______ 

____/____/_______    ________kg        _______ 

____/____/_______    ________kg        _______ 

____/____/_______    ________kg        _______ 

____/____/_______    ________kg        _______ 
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